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1 | 24 [109/12/01 |3+ & pRi% 2 Aspdees [§ |- &% =
2 |4 500 |109/12/01 |4 ¢ PRAXZ A spgres |8 |- &% =
3 [xaw 500 |109/12/01 |4 ¢ PRAXZ A spgres |8 MRS =
4 |mEs 500 |109/12/01 |4 ¢ PRAXZ A spgres | MR E =
5 |g = 300 |109/12/02 [4: ¢ PRAx % A spgees | |- &% =
HEEE 300 [109/12/02 A+ ¢ PRA%2 Hspdees (8 |- 48~
(EFE 300 [109/12/02 |4+ ¢ PRA%2 Hspdees (8 |- 48 =
ET 300 [109/12/02 |A- & pRix2 Ligres | & |- &%~
9 |g = 300 |109/12/02 [4: ¢ PRAx % A spgees | |- &% =
NNEEE 200 [109/12/02 |4k § PRI% 2 Lipdees |4 |- &&=
THETE 200 [109/12/02 4+ ¢ PRA%2 Hspdees (8 |- 48~
EEE 200 [109/12/02 |4k § PRI% 2 Lipgees £ |- &&=
13 a5+ 4 200 1109/12/02 |4 g PRix2 A¥pgres |& |- &%~
14 g # 200 |109/12/02 |A- & PRA% % Adpfees | £ |- &&=
15 |2 & 200 [109/12/02 |4k § PRI% 2 Lipdees | |- &&=
16 |22 8,000 [109/12/02 |4k & pRix% A¥pgees [§ |- &&=
17 |z 2,000 [109/12/02 |4 & pRix% Lipgers [B |- i ® =
18 |2 9% 200 |109/12/03 |A- ¢ JRix % A¥pdees [E |- &~
19 [+kigh 700 [109/12/03 |Ak § PRI% 2 Lipdees |£ |- &&=
20 |2 400 [109/12/03 [4- & PRAx% Espfres | £ [- &%~
91 |22 100 [109/12/03 |4 ¢ PRax % Aspsees | £ |- &b~
29 |=xm 3 100 [109/12/03 |+ & PRi% % Aipfeet |8 |- %% =
23 [rmse 100 [109/12/03 |4+ & PRi% % Aipfeet |8 |- %% =
24 |+ & 2,000 |109/12/03 |A- ¢ PRix % Adpdees £ |- & =
25 |#4p 2 1,000 [109/12/03 |4t & PRA% % &L spseres | £ |- i d 2
26 |3mik < 2,000 {109/12/03 |3k ¢ JRix% Lipdees (B |- s =
27 | &5 14 4 » 10, 725 [109/12/03 |4 € pRix % Lipgers |8 |- 4 ® =
28 | &5 14 4 4,387 |109/12/03 |A ¢ FRAx% A ¥pgeres [ |- &&=
29 i &4 500 [109/12/03 [A § PRix 2 Lspfres (8 |- &% =
30 |¥mE s 5,000 {109/12/03 |4k ¢ JRis% Lipdees (B |-k d =
31 g2 % 1,000 [109/12/03 |4t & PRA% % &L spseres | £ |- i d 2
32 [ERAK 300 [109/12/03 |4 ¢ PRAx2 Lspfres (8 |- 4%~
33 [ x0 1,000 [109/12/03 |4t & PRA% % &L spseres | £ |- i d 2
34 |%5licke 200 1109/12/03 [4- € rRss 2 Lipsers (£ [- 42 =
35 |gEaue 200 1109/12/03 [4 € rRss 2 Lipsers (£ [- 42 =
36 |5l 200 1109/12/03 [+ € PRA% % L pfees |8 [- & =
37 %14 e 200 1109/12/03 [4+ ¢ PRAx % L pdees |H [- & & =
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38 |geieit 200 [109/12/03 [A: ¢ JR4%2 Lspfees [ |- &g =
39 [#2 100 [109/12/03 |4k & PRA% % Aspdres |[£ |- k& =
40 |F# % 100 [109/12/03 |4k & pRAx% Lipdres |8 |- ik & =
NHET 100 [109/12/03 |4k & PRA% % Aspdres |[£ |- k& =
A EET 3,000 [109/12/03 |4t & PRix % Apdres |£ 374 g 2
43 [# 5414 fc 1,950 |109/12/04 |4t ¢ PRix2 &dfserr £ |- 4 d 2
44 |4z 8 1,000 |109/12/04 |4t ¢ PRir2 &ifsgeer £ |- 4 d 2
45 |Ey 3 X 50 [109/12/04 [# & PRi% 2 Lipsers (£ |- &b =
46 |my 3 E@E 50 [109/12/04 [# & PRix 2 Lipsers (£ |- &b~
AT [#3 2 6,000 [109/12/04 |4+ & pRix 2 Aspfers |[£ |- 4p & =
48 |z 47 6,000 [109/12/04 |4+ & pRix 2 Aspfers |2 |- 4ed =
49 [EE 4 6,000 [109/12/04 |4+ & pRis 2 Aspfers |[£ |- 4p & =
50 |i&m 500 [109/12/04 [A: ¢ FR4%2 Lspfees (8 |- &4 =
51 Wit & 500 [109/12/04 [4: ¢ FR4% 2 Lspfees (8 |- &4 =
52 |23 300 [109/12/04 [4 ¢ FRi%2 Lspdres (8 |- &4 =
53 [2 & & 300 [109/12/04 [4 ¢ FRi%2 Lspfres (8 |- & =
4 |4z % 200 [109/12/04 [4- ¢ FRi%2 Lspfees [ |- & =
55 |#e® F 200 |109/12/04 |Ax € JRIx % Espdees [E |- & #
56 |4z.x 4 200 [109/12/04 [A: ¢ PR332 Lspfres (8 |- & =
57 |42 2 200 [109/12/04 [4- ¢ PR332 Lspdres (8 |- &4 =
8 [tk% i 200 [109/12/04 [4- ¢ PR332 Lspdees [ |- &4 =
59 |4 i & 10,000 [109/12/07 |4 & pRis 2 A3pfers |£ |- 4p & =
60 |mrz 330 [109/12/07 [A- ¢ FR4%2 Lspdres (8 |- & =
61 |l 330 [109/12/07 [A- ¢ PRi% 2 Lspdres (8 |- &4 =
62 | w4 350 [109/12/07 [4: ¢ PRA%% Ldpseres (B |- b =
63 |mwd 330 [109/12/07 [4: ¢ PRA% % Ldpseres (B |- b =
64 |z i 330 [109/12/07 [4: ¢ PRA% % Ldpseres (B |- b =
65 |sl4k 2 330 [109/12/07 [4: ¢ PRA% % Ldpseres (£ |- b =
66 |E £ (Faa) 1,000 [109/12/07 |4t § PRAx % Aspdgees |8 |- dx & 2
67 &~ 4c 1,000 [109/12/07 |4t § PRIx % Aspdgees |8 |- dx & 2
68 |+ % 8 100 |109/12/07 |k & PR % & spgees | £ |- &% =
R ERCEN 100 [109/12/07 [A+ € PRI%2 Lpdees (8 |- &&=
0 |2%% 100 |109/12/07 |4k & PR % & spgees | £ |- &% =
71 |macz 300 [109/12/07 [4: ¢ PRA%% Ldpseres (B |- b =
72 |% % 5,000 |109/12/07 |- & PRix % &opdees |£ |- &% =
FHEEE: 600 [109/12/07 [4: § PRA%% L dpsees (B |- b =
74 %1% R 500 [109/12/07 [4: ¢ PRi% % L dpsees (£ |- b =
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75 | s 500 |109/12/07 |Ak € PRix % & dpferes [H |- &% »
76 |%l% = 500 1109/12/07 [4+ ¢ PRA% 2 L ipfces | & [- &% =
M EE: 500 |109/12/07 Ak € JRIx % Espdees [E |- & #
A EEE 3,000 |109/12/07 |4 ¢ pRax % &g (£ |- &% 2
79 [3merz 1,000 [109/12/07 |4+ € pRasr2 & grfees [ |- 42 =
80 |2~ 500 |109/12/07 |4k & PRA% % Adpfees | £ [- &% =
81 (2w 1,000 [109/12/07 |4 ¢ rRax 2 Lgpgees |8 |- 42 »
82 [tz p 1,000 [109/12/07 |4 ¢ rRix 2 Lgpgees |H |- 42 »
83 |% reip 300 |109/12/07 |4t & PRA% % Adpfees | £ [- &&=
84 [ 15 300 |109/12/07 |4k ¢ PRix % L gpferes [H |- &% »
85 [2 ma 200 |109/12/07 |4k € PRix % L gpferes [H |- &%
86 |5 mzp 200 |109/12/07 |4k € PRix % L Epferes [H |- i & »
87 [ m 2,000 1109/12/07 [A+ € PRixr2 Aipfers (2 |- 42 =
88 |xmm | =& %51 1,270 [109/12/07 A ¢ pRax % Lspgees |E [2impd ~
89 |2 % ¢ 600 |109/12/07 Ak € JRix% Eipders (£ | i /e d =
90 5% =ia 600 |109/12/07 |A- & FRix+ % Aipferes [H |F72 08 =
91 |2 # 600 |109/12/07 Ak € JRix% Lipders (£ |BEHH L &
92 [ ssm 12,000 |109/12/07 [+ € pRix 2 Lipfers |2 |2 % d 2
93 [3v+ 4 1,000 [109/12/07 |4 ¢ rRix 2 Lapgeres |8 |[w i~
94 34> 500 |109/12/07 |A- ¢ pRix 2 Lipderes |8 |m#gER =
095 [3%3u2 1,000 [109/12/07 |4+ € pRAsr2 L ¥pfers [ [ 2
96 ¥ x4 2,000 [109/12/07 |A- ¢ pRix2 Lipfees |E | »
97 | 48 600 [109/12/07 |A: ¢ PRix % Eipfees |8 |5
98 | 4% 10,000 |109/12/08 [4+ & pRix2 Lipfers |2 |- 4% 2
99 |5 &% 500 |109/12/08 |4k ¢ pRix % L Epfers [H |- 4% »
100 |32 45 500 |109/12/08 |4k ¢ pRix % L Epferes [H |- 4% =
101 | % % 41 4 Je » 4,632 [109/12/08 |4+ ¢ PRix % Lipfees (£ |- & 2
102 | p 5% 1,000 [109/12/09 |4 ¢ PRAx % &gt [H - 4% =
103 [ # & 1,000 [109/12/09 |4 ¢ PR32 Lgpgers [H |- 4 & =
104 |3 % 3,000 [109/12/09 |4 & rRax2 Lpgers [ |- &% »
105 |2 2 % 1,000 |109/12/10 [+ ¢ PRA% % Lspsees |8 [- &% =
106 |2 m s 1,000 |109/12/10 [+ ¢ PRA% % Lspsees |8 [- &% =
107 [ 2 6,000 |109/12/10 |4 ¢ pRsx2 Lipsers (£ |- & 2
108 [+ 3 500 1109/12/10 4+ ¢ PRA% % L psees |H [- & =
109 |#8k 2 500 1109/12/10 |4+ € PRz 2 Lapdeer | |- & &
110 [ % % 500 1109/12/10 4+ ¢ PRA% % L psees |H [- & =
111 (22 500 1109/12/10 4+ ¢ PRA% % L pfees |H [- &% =
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112 [ % 8 500 [109/12/10 (4 ¢ pras 2 &ipseet [ |- 4 d =
113 [ma 2 500 [109/12/10 |4 € P72 &Eipser (€ [- &% 2
114 |5 # " 1,000 [109/12/10 |4+ & PR3x % Apgens |8 |- 4 & 2
115 |k i 1,000 [109/12/10 |4+ & PR3x % Apgens |8 |- 4 & 2
116 |4k ¢ 500 [109/12/10 |4 € PR7%2 &Eipsen [ [- &% 2
117 |4 % 4 500 [109/12/10 (4 & pras 2 &ipsees (£ |- 4 d =
118 [%12 ¥ 500 [109/12/10 |4 € PR7% 2 &Eipsees [ [- &2 2
119 |§Ix iz 500 [109/12/10 [4+ € pRas 2 &dpseres (£ |- 48 =2
120 [#% & 500 [109/12/10 (4 € pras 2 &ipsees [ |- 48 =
121 |k & 500 [109/12/10 |4 € PR7% 2 Lipsee [ [- &2 2
122 |#£% % 500 [109/12/10 (4 € pras 2 &ipsees [ |- 4 d =
123 |53 500 [109/12/10 [4+ € pRas 2 &dpseret (£ |- 48 =
124 |1 125 500 [109/12/10 |4 € PR7% 2 &Eipsee [ [- &2 2
125 |45 % 500 [109/12/10 |4 € PR7% 2 &Eipsee [ [- &2 2
126 | 2 3.3 500 [109/12/10 |4 € PR7% 2 &ipsee [ [- 42 2
127 |4 i % 500 [109/12/10 |4 € PR7% 2 &Eipsce [ [- &2 2
128 |4f4s % 500 [109/12/10 |4 € PR7% 2 &Eipsee [ [- &2 2
129 L+ 500 [109/12/10 |4 € PR7% 2 &ipsees [ [- 42 2
130 [1F % % 500 [109/12/10 |4 € PR7% 2 Sipsees [ |22 2
131 |amik £ 500 [109/12/10 AL ¢ pRax 2 Lspgers |2 |z 32 =
132 [+ 3 500 [109/12/10 |4 € PR7%2 Sipsees [ [2 32 2
133 |plr & FA- 2,000 |109/12/10 |4t & pRis % Eapfers |£ [ %% 2
134 |35 % 50,000 [109/12/11 |4+ & PRsx % &dphers |£ |- 4 d =
135 |« #R 5 # 7 + 2550 20,000 [109/12/11 |4+ ¢ pR5x2 Sapkert [ |- 48 =
136 |3 1,000 [109/12/11 |4+ § P52 Apgen |[H |- 4% 2
137 |45 B 1,000 |109/12/11 |4 & PRF% 2 &spdees (£ [- &% 2
138 |2 % 1,000 |109/12/11 |4 & PRF% 2 &spdens (£ [- &% 2
139 |38 2 1,000 |109/12/11 |4 & PRF% 2 &spders (£ [- &% 2
140 | & 4 1,000 [109/12/11 |4+ & pRAx2 Lsers (£ |- 48 =
141 [moacze 500 [109/12/11 [4- § PRAx 2 A spdees (£ |- ixd =
142 | 2> 500 |109/12/11 |4 € PRF% 2 &spders (£ [- &% 2
143 |8 5 ¢ 500 |109/12/11 |4 € PRF% 2 &spders (£ [- &% 2
144 |3 48 22 500 [109/12/11 [4+ & pRas 2 Lipsees (£ |- 48 =
145 |“re 1% 500 [109/12/11 [A+ ¢ pRAx2 Lopkess [ |- 48 »
146 |+ 2 500 [109/12/11 [4: € pRAx 2 & spdees (£ |- ixd =
147 | £ #2i% 500 [109/12/11 |4+ € PR7%2 Eipsces [ [- 42 2
148 | % A 500 [109/12/11 [a+ ¢ pRAx2 Eapskees [ |- 48 »
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149 | = 500 |109/12/11 |4 § PR32 &spdees (£ [- &% 2
150 [m ik % 500 |109/12/11 |4 § PR 2 &spdees (£ [- &% 2
151 [4f- =™ 500 |109/12/11 |4 § PR 2 &spdees (£ [- &% 2
152 |4k38 2 500 |109/12/11 |4 § PR 2 &spdees (£ [- &% 2
153 2 § % 500 [109/12/11 |4 € PR7% 2 &ipsen [ [- &% 2
154 |77 3. 4 300 [109/12/11 |4+ & Rix2 Eipgees [ [~ 42 =
155 |4k P & 10,000 [109/12/11 |4 § PRFs2 &opdees |8 |- i »
156 |37 % % 1,500 |109/12/11 |4 § PR 2 &spdees (8 [- &% 2
157 |37 = e 1,500 |109/12/11 |4 § PR 2 &spdees (£ [- &% 2
158 |3 % & 1,500 |109/12/11 |4 § PR32 &spdees (£ [- &% 2
159 |38 L 5 1,500 [109/12/11 |4t ¢ pRAx 2 Aspgers |8 [- i =
160 |+ & 3 2,000 |109/12/11 |t & pRis % Eapfers |£ - &% =
161 |fr ¥ 3¢ 1,000 [109/12/11 |4+ ¢ pRAx2 Lgpgers |5 |- 42 =
162 |15 MR 5,900 |109/12/11 |t PRis % Eapfers |£ - &% =
163 | % ikt 375 [109/12/11 |4+ & Rix2 Eipgems [ [~ 42 =
164 |5 7 % 375 |109/12/11 |4 € PRi% 2 &spdees (£ [- &% 2
165 | & 43 375 [109/12/11 |4 € PRi% 2 &spdens (£ [- &% 2
166 | & =1 375 [109/12/11 |4 € PRI 2 &spdees (£ [- &% 2
167 |85 4 io 500 |109/12/11 |4 § PRA3 % &L ¥idgres (£ |- &% 2
168 |3 4 500 |109/12/11 |4+ ¢ PRI%% Lspdces (8 |- &%
169 |m i % 500 |109/12/11 |4 § PRA3 % L ¥idees (£ [- &% 2
170 |ptfo 5k 500 |109/12/11 |4 § PRA3 % L ¥idees (£ |- &% 2
171 |9 200 |109/12/11 |4 § PRI3 % L¥idgees (£ [- &% 2
172 |§3 % 200 |109/12/11 |4 § PRI3% L¥idgees (£ [- &% 2
173 [3¢ 2 % 200 |109/12/11 |4+ ¢ PRI%% Lspdcrs (8 |- &% 2
174 |3t} % 1,000 |109/12/11 |4 § PRI%% L¥idgees (£ [- &% 2
175 |4fie 48 1,000 |109/12/11 |4 § PRI%% L¥idgees (£ [- &% 2
176 | & # 2 1,000 |109/12/11 |4 § PRI%% L¥pdgees (£ [- &% 2
177 |Fp . k. M3 4 1,000 |109/12/11 |4 § PRI3% H¥pdgees (£ [- &% 2
178 | il i 1,000 [109/12/11 |4 § PRAx % Apdees |[H |- 4 & 2
179 | 5 7% 1,000 [109/12/11 |4+ § P52 Aapgens |[H |- 4% 2
180 |# 41 % 1,000 |109/12/11 |4 § PRI%% L¥pdgees (£ [- &% 2
181 |3 % 500 |109/12/11 |4+ ¢ PRI%% Lspdces (8 |- &% 2
182 |#R5E ik 1,000 |109/12/11 |4 § PRI%2 &L ¥pdgces (£ [- &% 2
183 | % i % 10,000 [109/12/11 |4t § PRA%2 & 3pfrer |8 |- &% =
184 | % & 8 200 [109/12/11 [4* ¢ pRA% % Adpsees (8|S =
185 |% =} 5,000 [109/12/14 A+ € JRA% % L ipders | B |- 4 & =
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186 [F >4 2,000 [109/12/14 |4+ € pRix% Lipgers (8 [- 48 =
187 [512 % 50,000 [109/12/14 |4+ ¢ sz 2 &epkers |E [~ =
188 |51 % 2,000 [109/12/14 |4+ € pRix% Lipgers (8 [- 4% =
189 [mif 2,000 |109/12/14 |4 g PRF* 2 Lapdess |2 |- 4 & =
190 | £4% 500 [109/12/14 |4 € PRF% % & ipfeet |2 |- 42 =
191 [ 7+ &% 500 [109/12/14 |4 § PRA% 2 Zapfers |2 |- 4 & #
192 | # 4% 5,000 [109/12/14 |4+ € pRix% Lipgers [ |2 & =
193 |& #& 4% 5,000 [109/12/14 |4+ € PRix2 Lipgens (£ [md =
194 | % kA% 5,000 |109/12/14 |4+ ¢ PRI+ 2 Egferes |2 | d
195 ¥ 4% 500 |109/12/15 [A+ g PRAx2 Edpkens [ |- 4pd =
196 | 4 - 200 [109/12/16 [A- € PRF* % L ipfees |£ |- 42 =
197 [#R4% §F 200 [109/12/16 [A- € PRF* % &L ipfees £ |- 42 =
198 |4 7] 3% 10, 000 [109/12/16 |4+ € PRAx% Lipgers (8 [- 48 =
199 |#%F e 2,000 1109/12/16 |4+ € PRir2 Lipfgers (2 |- 43 2
200 | g8 45 2,000 |109/12/16 |4 § PRA* % Lipdees £ |- 42 =
201 |#n5 15 2,000 [109/12/16 |4 € pRis % Lapgers [E [ 42 =
202 |3 7% A 1,000 [109/12/16 |4+ & PRix2 Ldrsers (£ |- 48 =
203 |§83E § 1,000 [109/12/16 |4+ & pRix 2 Ldrsers (£ |- 48 =
204 g ir 2 2,000 |109/12/16 |4 § PRA* % Lipdees £ |- 42 =
205 [#%AF~ 5,000 [109/12/16 |A- & pRix2 Lipferes |E |- 42
206 |44 i¢ 50,000 [109/12/16 [4+ ¢ rRss2 &psers |H [ 4% 2
207 | & 4B 500 [109/12/16 A € PRF% % Lipfeet |2 [ d =
208 | F=A R 500 [109/12/16 A+ ¢ FRir% L¥pgees [ [Emd ~
209 | ¢ i 500 [109/12/16 [A- € PRF% % Lipfeet |2 e =
210 | w® 500 [109/12/16 [A- € PRF% % Lipfeet |£ [ d =
211 |k 74 2,000 |109/12/16 |4 € PRAx % Lipdest £ [ d =@
212 |& &= 300 [109/12/16 [A- € PRFx % Lipfeet | |RAF & =
213 |2 % % 1,000 [109/12/17 |4+ & pRAx2 Lgers [ |- 48 =
214 |mH 7 1,000 [109/12/17 |4+ & pRAx2 Lsers (£ |- 48 =
215 |Buss ¥ 200 [109/12/17 [A- € PRF% % & ipfeet £ |- 4% =
216 |2 2 } 200 |109/12/17 |4 € PRix % LEpfers [H |- 4% =
217 |iz 14 500 [109/12/18 |4 § PRF% % & ipfeet £ |- 4% =
218 [mirf 3 %4 3,200 [109/12/18 |A: & PRx2 Lifferes |E |- 42 =
219 | % 5 1.4 e > 1,463 [109/12/18 |4 € pRir2 Epsees (£ |- &&=
220 | %35 1.4 e » 4,632 [109/12/18 |4 g PRAx 2 Lapfers £ |- 4 & =
221 |m % & 2,000 |109/12/18 |4 § PRAx % Lipfers £ |- 4 & =
222 | Bk 20,000 |109/12/18 [4+ g PRAx 2 Lapders |2 |- &8 2
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223 ¥ =97 500 [109/12/18 [4- € pRas 2 &dpsert [ |- 4 d =
224 MR 100 [109/12/18 |4 & Rix % &ipfers |[B |- 42 =
225 [ 100 [109/12/18 |4 € Rix % Eipfers |[£ |- 42 =
226 [ 4 100 [109/12/18 |4 & Rix % &ipfers |[B |- 42 =
227 [ 2 100 [109/12/18 |4 & RFx 2 Eipfers |[£ |- 42 =
228 [ 8 100 [109/12/18 |4 & Rix % Epfers |[£ |- 42 =
229 Mt 100 [109/12/18 |4 & Rix % Epfers |[£ |- 42 =
230 [mzr 2 % 100 [109/12/18 |4x & PRAx % A3pfees |[£ |- 4p & =
231 [ s 100 [109/12/18 |4 & RFx 2 Epfers |[£ |- 42 =
232 [ % % 100 [109/12/18 |4 & RFx % Epfers |[£ |- 42 =
233 ¥R B3¢ 6,000 |109/12/18 |4+ & PRAx2 Eipfers |2 |- 4 =
234 s 2 6,000 [109/12/18 |4k ¢ PRA% 2 Eipfees |£ |- &3 =
235 |7t ekde 20,000 [109/12/18 |4+ & ;A% 2 Lapkess (8 |- 48 =
236 % % 16 20,000 |109/12/18 |+ ¢ PRAx2 & ipsees | £ |- 41 =
237 |5 s il 20,000 |109/12/18 4 ¢ pRAx 2 Lt £ |- i »
238 |4 £% 1,000 |109/12/18 |4+ ¢ PRix 2 Lipsgens |2 [ 48 2
239 |¥f 2= 100 |109/12/18 |4+ ¢ pRir 2 Lipgces (£ |0i /e
240 |37 % M(FAEF) 100 [109/12/18 |4 & Rix 2 Lpfers |2 |22 =
241 |37 % M(FAEH) 100 [109/12/18 |4 & Rix 2 Sapfers [ |2 i =
242 |4 K & 500 [109/12/18 [A- g pRir 2 Lt (£ |N¥F & =
243 | 4t 1,000 |109/12/21 |4t ¢ PRix2 &dpserr £ |- 4 d 2
244 | 7o e 1,000 |109/12/21 |4t ¢ PRix2 &dpserr £ |- 4 d 2
245 | & &% 1,000 [109/12/21 |4+ § PR3x % Apgens |8 |- 4 & @
246 | % % 3,000 [109/12/21 |4 & pRix 2 Lpfers |2 |- 4 & =
247 |#& ¢ =< 500 |109/12/21 |4k € pRix % LEpfers [H |- 4% =
248 | % % 114 fe 1,463 |109/12/21 |4t ¢ PRix 2 Ldpserr £ [- 4 d 2
249 [= 5114 fe » 488 1109/12/21 |4t ¢ PRz &dfscrs | [- 4 d 2
250 [#rrcdifl L e~ 16 [109/12/22 |4+ ¢ FRix % L¥psees [ |- & 7
251 (2 4= 100,000 [109/12/22 |4+ ¢ pR5x 2 Sapkert [ |- 48 =
252 [m & it 500 [109/12/22 [4- ¢ PR4% 2 Lspdres (8 |- & =
253 | & " 500 [109/12/22 [4 € pRAx 2 Lapdkess (8 |- 48 »
254 & &= 815 [109/12/22 |4+ § PRAx 2 Apgens |8 |- 4 & @
255 ¥ % » 500 [109/12/22 [4- ¢ PR4% 2 Lspdres (8 |- & =
256 | & &= 215 |109/12/22 [+ ¢ PRA* 2 L ¥pfces |H |- 42 =
207 |Hh4* p7 3,000 |109/12/22 |4+ & pRix % Eapfers |£ |- 42 =
258 |2t 2 1,000 [109/12/22 |4+ & PRF% 2 Ldders |2 |- 48 @
259 |3 2 % 1,000 |109/12/22 [+ ¢ pR#% 2 Lipderes |5 [- 42 =




Rzss#+ EFFRGRFR FHFP 109#12% 1p 2109#12% 31 p
AR TEEASE ATHLES LT > % ghoT !

(C)AREABEREL AFRFTLLARSFREALD -

EORE-FI 0N EX RN - EECEE-FA P S S
(Z)rBRAERBERAIEH IR D .
()R & 2FH2 i i

(I)REBAFLEHrT 2 4 41 o
()rR&E2 TRz FARRBL N -
(C)Euw BEAREXE P ehz £ 0o
FoBL (W F LS L FREEIE |REPpH (R if’: o
260 [ 4.2 500 [109/12/22 |A- & PR % Lipfees | B |- &%
961 [% i % 200 [109/12/22 |A: & PRax % Lipgees | & |- &%
262 |#r 2 45 200 [109/12/22 |A- & PRax % Lipfees | B |- &%
263 [m z @ 7,500 [109/12/22 |4 & pRix2 Ldpferes |E |- 4
264 [m z @ 7,500 [109/12/22 |4 & pRix2 Ldpfees |E |2 %%~
265 |z B 5,000 [109/12/22 |4 & rRix2 Lifpferes |E |2 %%~
266 [tk37 5,000 [109/12/22 |4 & pRix2 Lipferes |E |2 %%~
267 | 24535 5,000 [109/12/22 |4 & pRix2 Lifpferes |E |2 %%~
9268 |+ 3 & 2,000 [109/12/22 |4k ¢ pRis 2 &spfees |4 i;:‘ﬁm*’“@v
269 |5 5 & 20,000 [109/12/22 |4 ¢ pRax 2 L3pscrs |H ks =
270 [ = ¢ 500 [109/12/23 |A- & PR % Lipfeesr | & |- &%
271 |4 &% 2,500 [109/12/23 |A- & rRix2 Lifpferes |E |- 4
272 |3 % % 2,000 [109/12/23 |A- & rRix2 Lifpfers |E |- 42
273 |1p st 5 1,000 [109/12/23 |4t & PRA% % & spsees | £ |- g
274 |# 2 2 100 [109/12/23 |3+ ¢ PRA% % Lipgres |8 |- 4k =
975 | st 100 [109/12/23 |4 ¢ PRI+ 2 Lipsees (B |- & & »
976 |2 453 100 [109/12/23 |4 ¢ PRax % Aspsees | |- &b~
217 | % e 100 [109/12/23 |3+ ¢ PRA%% Lipgres (8 |- 4k =
278 |2 2 = 300 |109/12/23 |A- ¢ JRix % A¥pdees [E |- &~
279 (%73 300 [109/12/23 |A- & pRix2 Litgres | & |- &%~
280 |38 £ 1,000 [109/12/24 |4 ¢ PRAx % Lgpgers [H - 4% =
281 | &% &% 1,750 |109/12/24 |4 € PRF%:2 Edees | £ |- &% =
9892 [ p & 1,000 [109/12/24 |4 ¢ PRAx % Lgpgers [H |- 4% =
AR e A it S O
283 ;;};;Zi;’ L 2,000 |109/12/24 |3 ¢ PRA* % &ipfees | |- k% =
284 |#% % 1,000 |109/12/24 |4+ ¢ PRax % A¥pdees (£ [~ &&=
285 |gctr = 300 |109/12/24 |A- & JRix % A¥pdees [E |- &~
286 |2 7% 200 |109/12/24 |A- & JRix % Adpdees [E |- &~
287 [¢ -k 30,000 [109/12/24 |4 ¢ pRix % Lapsees |H |- & =
288 |#FE% | 500 [109/12/24 |4 & IRA%2 Hipdees |8 |23 mpd =
289 [ % = m 200 1109/12/24 |4+ ¢ pRix 3 & dpfers | H_ FiE % -
290 |2 % 4 200 |109/12/24 [#+ € PRG% % Lipgers [§  [FEE 2
291 |3 g 200 1109/12/24 |4+ € pRix % & $pfees |H_ FE S -
202 |1 B4 200 1109/12/24 |4+ € pRix 3 & $pfees |H_ FE % -
293 |4k~ 4 200 1109/12/24 |4+ € pRix % & $pfees |H_ FE S -
294 [+hpFsE 200 |109/12/24 |A- € JRix % Adpdees |8 |[mE S~
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295 |2 4p 200 |109/12/24 |4 § PRix 2 Lopdees (£ [Bg S 2
296 |% 5% % 200 [109/12/24 [4r ¢ pras 2 &ipseet [ [Fg S =
297 | % 548 200 [109/12/24 |4+ g rRsr 2 Lapfert [ |wmgd =
298 % Wi 200 |109/12/24 |4+ ¢ pRir 2 Espfers B |m#gEd ~
299 | % 74 2 200 [109/12/24 [4 ¢ PRI% % Ldpseres (B |iwg s~
300 [ % &« 1,000 [109/12/24 |4+ ¢ P75 % &ipsces [ gﬁmﬁm%
301 |iz > § 1,750 [109/12/24 |4t § P52 &pgers |H |Migd 2
302 [t 4 &= 1,500 [109/12/24 |4+ § P52 &pgerr |H |Migd 2
303 [3 %8 6,000 |109/12/24 |3t § PRix% E¥pdres |£ k% =
304 | 2 k4% 500 |109/12/25 |4t & PRI 2 &¥pdees (£ [- &% 2
305 |2 44 500 [109/12/25 [4t § FRA% % A dpsees (B |- b =
306 |1 & ¥ 500 [109/12/25 [4r € pRAs 2 &dpsers (£ |- 4 d 2
307 |2 4% 500 |109/12/25 |4t § PRI 2 &spdees (£ [HkE 2
308 | 3 e 500 [109/12/25 (4 ¢ rRax 2 Lspseres (8 [Mamgd =
309 [ 1 500 |109/12/25 |4k § PRI%% L¥idgces (£ [HEL 2
310 [an s i 500 |109/12/25 |4k § PRI3 % L ¥idces (£ [HEL 2
311 | & 3,000 [109/12/28 |4t § pRis 2 Lpders | |- iz g =
312 |4 i 2,000 [109/12/28 |t § pEFs 2 Lpders | |- iz g =
313 [ 6,000 |109/12/28 |3t & PRi%% E¥pfres |£ |- &% =
B4k g(H5n) 30,000 [109/12/28 Ak & PRix % Adpfret |£ |% %% =
315 [iz# w 1,000 [109/12/29 |4t § PRIx % Apdgees |8 |- 4k 2
316 |ir % o & 1,000 |109/12/29 |4t & PRi%s2 &spdees (£ [- &% 2
317 iz 48 1,000 [109/12/29 |4t § PRIx % Apdgeer |8 |- 4k 2
318 [makis 500 |109/12/29 |4t § PRi%% L¥igces (£ [- &% 2
319 [m igsc 500 |109/12/29 |4 § PRi3% L¥igces (£ [- &% 2
320 [m &r4 500 |109/12/29 |4 § PRI3% L¥igces (£ [- &% 2
321 [% 4 500 |109/12/29 |4t § PRi%% L¥igces (£ [- &% 2
322 | 5 &3 500 |109/12/29 |4t € PRF5 2 Espdcrs (£ [- &% 2
323 |47 jpk 45 10, 000 [109/12/29 |+ & pRi% % Lpgers |8 |- 4 ® =
324 | % todv 1,000 |109/12/29 |4 § PRi%% L¥pdgees (£ [- &% 2
325 |1 R 5E 1,000 |109/12/29 |4 § PRi%% L¥idgees (£ [- &% 2
326 |Flinig 200 |109/12/29 |4 § PRI3% L¥idgces (£ [- &% 2
327 |# st 200 |109/12/29 |4 § PRi% % &L ¥idgces (£ [- &% 2
328 %o ke 200 1109/12/29 4+ € PRA% 2 L Efces |8 [~ 4% =
329 | ¥4 e 200 |109/12/29 |4t § PRI3 % L ¥idgres (€ [- &% 2
330 |#ktx it 200 |109/12/29 |4 § PRi3 2 L¥pgres (£ [- &% 2
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331 |2 &% 500 1109/12/29 [#+ € PRFx 3 & Epfees | & - kg P
332 |5 ik 300 [109/12/29 |4+ € PRIx2 L Epfres |4 - BE% 2
333 [1r 7 #& 100 1109/12/29 [#+ € JRFx2 & Epfces [H - BE% =
334 | &% 100 1109/12/29 [A+ € JRFx2 & gpfres [H - 5% 2
335 | #I ¥ 100 ({109/12/29 |4+ € PRA:2 L s [H_ - B
336 | £ & = 100 {109/12/29 |4+ € PRA:2 L s [H_ - B
337 | A& 100 {109/12/29 |4+ € PRA:2 L fpgees [H_ - B
338 | &% 100 {109/12/29 |4+ € PRA:2 L fpgees [H - B
339 | & £ 100 ({109/12/29 |4+ € PRA:2 L s [H - B
340 | Z ¥ 100 {109/12/29 |4+ € PRA:2 L s [H_ - B
341 [3mm 100 [109/12/29 |4 & PRAx % Apdres |£ |- k& =
342 | %% &% 100 |109/12/29 |4+ € pRar 2 Edpgees [£ |- &&=
343 = w 47 100 ({109/12/29 |4+ € PRA:2 L s [H - B
M4 [EXF 1,000 |109/12/29 [A+ € PRFx 3 & Efces | & - B
345 |HhiE & 340 [109/12/29 |4t PRA 2 Lpdert £ |- 4 ® =
346 &+ 330 |109/12/29 [A+ ¢ PRix 2 Ldpfert |B |- 4 =
34T & =T 330 [{109/12/29 |4+ ¢ PRF% 5 L pfces (A - B
348 | R F 50,000 |109/12/29 |4+ € PRz 2 Lapdeer |4 |k & ©
349 [3& d=* 6,000 1109/12/30 [A+ € PRA* % L Epfces | & - B
350 [F& L 5 6,000 1109/12/30 [A+ € PRA* % L Epfces | & - B
NEEEY 6,000 1109/12/30 [A+ € PRA* % L Epfces | & - B
302 [sE= K 6,000 1109/12/30 [A+ € PRI* % L Epfces | & - B
353 [= I A f» 3,169 1109/12/30 [A+ € PRIx % L Epfces | & - g 2
354 | % 3% 41 4 i » 48 [109/12/30 |4+ § PRAx2 Epdces |8 |- &% =
305 | = 314 » 4,632 |109/12/30 |4+ ¢ PRA%2 L Epfers [& - g2
356 | = 3414 T » 11,944 [109/12/30 |A+ ¢ FRF% 3 L fpfces A - g 2
357 | %Y 2,000 1109/12/30 [A+ € PRAx % L gpfees | & - AP
358 |3i7h & 2,000 1109/12/30 [A+ € PRAx % L gpfees | A - AP
399 [ # 17 2,000 1109/12/30 [A+ € PRAx % L gpfees | A - AP
360 | 3% 2,000 1109/12/30 [A+ € PRAx % L gpfees | & - AP
361 | & 2,000 [109/12/30 [#+ € FRA%2 L ipfees |H (- & -
362 |Fg 7 48 5,000 1109/12/30 [A+ € PRIx % L gpfces | & - g2
363 [RE % 3,000 1109/12/30 [A+ € PRIx % L gpfces | & - AP
364 iz %% 1,000 |109/12/30 [A+ € PRFx % &L Epfres | & - i & 2
365 [ix = 1,000 [109/12/30 |4+ ¢ PRF% % L Epdces [ - AP
366 |3 2 = 100 1109/12/30 |4+ ¢ PRA% % L ¥pfees | |- # & =
367 | & ¥ & 100 |109/12/30 |4k ¢ PRAx 2 Espgces [ |- b =
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FoW | R F AR WL |#FEpy |FH» 2 jff: o
368 | & A 100 [109/12/30 |4+ € prin 2 Lapgers |8 -4 & =
369 |Him B 1,000 |109/12/31 |4+ ¢ pRix 2 Lipseer |2 [ 48 2
370 [+ % & 1,000 |109/12/31 |4+ ¢ PRz dpseer |2 [ 48 2
371 |mz & 50,000 |109/12/31 [4+ § PRAx 2 Epkent £ |- 4pd =
372 |R #hit £ 20,000 [109/12/31 [A- € pRsx2 Sapkert [ |- 48 =
313 |38 iz 500 [109/12/31 |4+ g PRse 2 Sapfert [ |- 48 =
374 [= 514 fe» 4,387 [109/12/31 |4+ € Ris % Epfers [£ |- 42 =
375 | % & 1,500 |109/12/31 |4+ ¢ PRix 2 Lipsenr |2 [ 48 2
376 |77 5 4 300 1109/12/31 [ar ¢ pRanz Aspgess £ |- i #
37T [ =5 {14 Jz» 2,438 [109/12/31 |4 € s 2 Lpfers |2 |- 4 i =
378 [= 14 fe » 5,362 [109/12/31 |4 & s % Lpfers |[£ |- 4 i =
379 [£ &2 1,015 |109/12/31 |4+ ¢ PRiax 2 Lipsenr £ [ 48 2
380 |% ¥ % 500 |109/12/31 [A+ ¢ pRir 2 Edpfers |B |- 4nd =
381 |% ¥ 4r 500 1109/12/31 [ir ¢ pRanz Aapgess £ |- i #
382 | & % %0 1,000 [109/12/31 |4+ ¢ Rix 2 Lpsees | £ |- 48 2
383 |~ 'z 5,000 [109/12/31 |4k & pRis 2 Aspfers |[£ |- 4p & =
384 [#Hp 5,000 [109/12/31 |4k & pRis 2 Aspfers |[£ |- 4p & =
385 |3 > 5,000 1109/12/31 [A+ € pRixr2 Lipfers (£ |- 43 2
386 |5 5,000 [109/12/31 |4k & pRis 2 Aspfers |[£ |- 4p & =
387 |p i 5,000 [109/12/31 |4k & pRis 2 Aspfers |[£ |- 4p & =
388 |if M #% 10,000 [109/12/31 |4 ¢ pRar2 Lpsees [ |- &2 »
389 |2 7k 5,000 [109/12/31 |4k & pRis 2 Aspfers |[£ |- 4p & =
390 | > 4 2,300 [109/12/31 |4+ € pRAx % Lipgers [E [ 4 & =
391 |4p s 1,000 [109/12/31 |4+ & PRix 2 Hspgees | £ |23 g d =
392 | % o 5,000 1109/12/31 |4+ & JRIx 2 Lipfres (£ |WmEE =




